ACRICULTURAL CROP REPORT

County of Lassen

1957

LASSEN COUNTY DEPARTMENT OF AGRICULTURE

78. 48 13 17 00 3 139,433,00 .01,7200,60 139,390,00 1.3.1. Cou Cort Lib Cort Cort Cort 15.00 3,00 108.30k.30 LASSEN COUNTY 2 50 7 110 7 400 13,485,00 DEPARTMENT OF AGRICULTURE 0,789,00 0,120 0,769,00 1,400 1,700,00 22,460 0,61,647,550 Veterans Memorial Building A pima Susanville, California 279, 111, 0 3,386,79 THE HONORABLE W. C. JACOBSEN, DIRECTOR OF AGRICULTURE THE HONORABLE BOARD OF SUPERVISORS OF LASSEN COUNTY 11,193.00

Section 65.5 of the California Agricultural Code requires that the Agricultural Commissioner compile a report covering conditions, acreage, production, and value of the Agricultural products of his county.

This fourteenth annual crop report is the average gross prices received by the farmers of this county for their commodities.

There was a reduction of \$2,185,520.00 less than last year, and again the drop was in the production of lumber. Practically all the farm commodities showed an increase over last year.

We wish to express our sincere appreciation to those who helped to make the compilation of this report possible.

Chicken Feed

rined grazing

eftermath

en of Land

Respectfully submitted,

Ernest & Frig Ernest E. Fix

Agricultural Commissioner

to at

1 (2,6,2) F 702, 70

20,000

FIELD CROPS

J	Acres	Production	Units	Per Unit	Value
falfa Hay	11,713	25,849	Ton	\$ 17.00	\$ 439,433.00
Meadow Hay	30,436	36,950	Ton	16.00	591,200.00
	7,879	8,712	Ton	16.00	139,392.00
heat	7,237	56,268	Cwt	3.00	168,804.00
Ifalfa Seed	26	-1,750	Lb	.25	437.50
Barley	7,095	84 , 559	Cwt	1.90	160,662.10
Tye	611	4 , 585	Cwt	2.00	9,170.00
lats	1,430	17,394	Cwt	2.50	43,485.00
crested Wheat	390		Acre	7.10	2,769.00
ilage	40	980	Ton	5.00	4,900.00
Permanent Pasture	57 , 865	7 7 8 1 8 1 1	Acre	11.50	665,447.50
Privately owned grazing land	559,300	Christia sittata es	Acre	.15	83,895.00
rop land aftermath	66,817	1,477	Acre	3.00	200,451.00
iss. Forest Service	Cattle	4,765	Head	1.76	8,386.40
Sisgrazing land	Sheep	2,900	Head	-48	
J. S. Bureau of Land	Cattle	20,777	Head	•90	1,392.00 18,699.30
Management	Sheep	21,670	Head	.18	3,900.60 2,542,424.40

LIVESTOCK AND WOOL

Mar (1924) 13

anter 🖭 .

areary

	Production	Units	Per Unit	Value
teers	10,360	Head	\$150.00	1,554,000.00
ows	10,293	Head	120.00	1,235,160.00
alves	5 , 753	Head	80.00	460,240.00
ulls	1429	Head	225.00	96,525.00
wês (1,157	Head	7.00	8,099.00
ambs	23,755	Head	17.00	403,835.00
ool	226,706	Lb	.50	113,353.00
ogs	1,280	Head	36.00	46,080.00
orses (Chicken Feed)	28	Head	42.00	1,176.00
orses (Saddle)	11	Head	150.00	1,650.00
				3,920,118.00

POULTRY AND EGGS

·		Production	Units	Per Unit	Value
rkeys ickens	ner en	256 9,056 121,155	Head Head Dozen	\$ 8.00 •75 •55	2,048.00 6,792.00 66,635.25 75,475.25

DAIRY PRODUCTS

				Production		Units	6 12 20 A	Wa 7
		. to to the state of			-		Per Unit	Value
Milk. Manufa	cturing	Milk Fat Milk Fat		-83,552 9,400 11,017		Lb Lb Lb	*** 1.02 ° *80 *68 5	\$ 85,223.04 7,520.00 7,491.56
	:						12 apr. 3	100,234.60
		្រាស់ខាង		n 194 aan 48 a 79 oes			11,372.37	
		FRUITS	S AN	D VEGE	TAB	LES	8,9 S., 40, 10	
			Acres	Production	: Md	Units	Per Unit	Value
Potatoes	Damud a a	g de de las	. 12	2,100		Sack	\$ 2,00	4,200.00
Misc. Fruits & l Misc. Vegetable:		alan er er er	in and is on				27.3.00.00	9,540.00 600.00
			1900 - 1900 - 1 2000 - 1	e de la companya de l		: .		14,340.00
	. •							
<u> </u>			<u> L U</u>	MBER				
Lumber Milled	79,134,		-		· · · \$	75.00	u sa	\$ 5,935,050.00
Lumber Milled	79,134,		-		*	75.00		\$ 5,935,050.00
umber Milled	79,134,		-		* : *	75.00		\$ 5,935,050.00
Lumber Milled	79,134,	000 Bd. Ft.	-	M Bd. Ft.		75.00		\$ 5,935,050.00
Lumber Milled	79 , 134,	000 Bd. Ft.	Per	M Bd. Ft.	CTS	Units	Per Unit	\$ 5,935,050.00
Lumber Milled oney ees Wax	79 , 134,	000 Bd. Ft.	Per	M Bd. Ft.	CTS			<u>Value</u> 5,343.00 472.16
loney	79 , 134,	000 Bd. Ft.	Per	PRODUCTION	CTS	Units Lb	Per Unit	<u>Value</u> 5,343.00 472.16
loney	79 , 134 ,	000 Bd. Ft.	Per	PRODUCTION	CTS	Units Lb Lb	Per Unit	<u>Value</u> 5,343.00
loney	79 , 134 ,	000 Bd. Ft.	Per	PRODU Production 41,100 908	CTS	Units Lb Lb	Per Unit \$.13 .52	<u>Value</u> 5,343.00 472.16
loney		000 Bd. Ft.	Per	PRODU Production 41,100 908	CTS	Units Lb Lb	Per Unit \$.13 .52	<u>Value</u> 5,343.00 472.16
oney lees Wax		000 Bd. Ft.	Per	PRODUCTION 41,100 908	CTS	Units Lb Lb	Per Unit \$.13 .52	Value 5,343.00 472.16 5,815.16
oney lees Wax		000 Bd. Ft.	Per	PRODUCTION 11,100 908	C T S	Units Lb Lb	Per Unit \$.13 .52	Value 5,343.00 472.16 5,815.16
oney lees Wax		OOO Bd. Ft. A P I	Per	PRODUCTION 41,100 908	C T S	Units Lb Lb	Per Unit \$.13 .52	5,343.00 472.16 5,815.16

SUMMARY

Fiel	d Crops	\$	2,542,424.40
Live	stock and Wool		3,920,118,00
Poul	try and Eggs		75 , 475.25
Dair	y Products		100,234.60
Frui	ts and Vegetables		14,340.00
Lumb	er		5,935,050.00
Apia	ry		5,815.16
Nurse	ery		2,100.00
Gove	rnment Payments		103,000.00
	TOTAL	\$:	12,698,557.41
	PREVIOUS CROP REPORT	S	
1944	Grand Total	\$]	15,093,030.67
1945	Grand Total]	16,722,786,83
1946	Grand Total	J	18,042,524.37
1947	Grand Total	2	20,771,487.31
1948	Grand Total	2	22,790,823.33
1949	Grand Total]	.9,795,049.80
1950	Grand Total	2	23,652,100,69
1951	Grand Total	2	26,962,081.92
1952	Grand Total	2	4,717,898.18
1953	Grand Total	2	1,133,764.28
1954	Grand Total	1	8,816,407.80
1955	Grand Total	1	8,461,704.57
1956	Grand Total	1	4,884,078.24
1957	Grand Total	1	2,698,557.41